o] Adeol7k 6 em, 2o Zo)7F10em ] Yol

- -

-

8o B 967 cm? ©]t}.
2 9] Hil= 367 cm? ©]t}.

]

-

]

i
-

[e)
[e)
i

©
®

: 127cm,

=d9] 2ol

64 = 8cm,

1

3

102 — 62

]:

1 : 36 x 8 X

o

L=,
I

=]

=

= 96cm?




& A5 HA oA AB = 8cm, BF =
5cm, FG = 10cm ¥ o], AG 2] Zdo]& 8em /%

Totoiet. g/ N
; /I \‘ C
5cm) /, \\
|’ AY
F ~~10em-
= cm

>
> ZE 3v2lcem

AG = V52 4+ 82+ 102 = V25 + 64 + 100

= V189 = 3V21(cm)




17]°50llM A P ol dE wEt
712 Fstefet.




ths 1T} Zo] ¥R F0] dol7F 15ecm Q] ¢
oA FAZre] 27171 120° 9 RAE-S QA
Y& dHE WaT, o] 9ES EolE 5t

ofzt.

C} -
H -

>
> &= 10v2em

B ‘

A ¥tz 52] AolE ycmetal SHH,

2nr = 2 ><15><120—10
= 360 "

~.r=>5(cm)

h = V152 - 52 = v200 = 10 V2(cm)




WA B AclH 2uE uet BOS At
1?4 Fstoler.

D
A D '
R /
| L dem
B~ 4cm \
L / Br---\--- C
/ ‘4cm 4 cm|
~6ecm--G \
~6cm-- G
» = cm
> ™Y 10 cm

AB+BF=4+4=8(cm), FG =6 (cm)
AG = V82 +62 = 10 (cm)




